The Anatomy of a Matrix
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is called an element of M

and is in the ith row and jth column
M is called a “ 3 by 4” matrix

3 rows , 4 columns or “3 ( 4”

Given the system of equations:
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We are going to: 

· drop the x, y, z, +, = , symbols
· write the matrix, using only coefficients
· any missing terms, fill in with 0’s
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Our goal is to reduce M into

Row Echelon Form:
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We need to learn the “legal” operations to use with matrices.

Def:  Equivalent matrices have the same solution set.

Row-Equivalent Operations

Each of the following operations produces an equivalent matrix:  (these are “legal” moves)

1. Switching any two rows.

2. Multiplying (or dividing) a row by the same number.

3. Multiplying a row by a number and then ADDING the result to another row.

We will use a combination of these operations to get the matrix into Row Echelon Form.
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